https://millionstar.godaddysites.com/ m B e

PDFelement

Remove Watermark g

Fraction
Exercise 5A

Q1

Answer :

(i) The shaded portion is 3 parts of the whole figure.
. 3
o
(ii) The shaded portion is 1 parts of the whole figure.
L1
-7
(iii) The shaded portion is 2 parts of the whale figure.
2
-3
(iv) The shaded portion is 3 parts of the whole figure.
.3
(v)The shaded portion is 4 parts of the whole figure.
.4
(vi) The shaded portion is 3 parts of the whole figure.
3

"B

Q3
Answer :

The given rectangle is not divided into four equal parts.

Thus, the shaded region is not equal to % of the whole.
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Answer :

Numerator Denominator

(4 9
(i) & 11
(iii) 8 15
()12 17
(V)5 1
Q6
Answer:

53 . . LB
s (i) 75 (i) 75 (v) 1
Q7
Answer :

i) two-thirds

i) four—ninths

iii) two—fifths

(
(
(
(iv) seven—tenths
(v) one—thirds

(vi) three—fourths
(vii) three—eighths
(viii) nine—fourteenths
(ix) five—elevenths
(x) six—fifteenths
Q8

Answer :

We know: 1 hour = 60 minutes

. i jon- 24 2
=~ The required fraction = P
Q9

Answer:

Wondershare
PDFelement

Remove Watermark g

There are total 9 natural numbers from 2 to 10. They are 2, 3, 4, 5,6, 7.8, 9, 10.

Qut of these natural numbers, 2, 3, 5, 7 are the prime numbers.

= The required fraction = %_

Q10

Answer :

(i) % of 15 pens = (% g) = 10 pens

(i) 2 of 27 balls = (% i) 18 balls

(iii) 2 of 36 balloons = (% ﬁ) = 924 balloons
Q11

Answer :

(0 % of 16 cups = (% ® i = 12 cups

(i) % of 28 rackets = (% ® g) = 21 rackets
(iiiy 2 of 32 books = (? X i) = 24 books


http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/
Remove Watermark E® Wondershare
PDFelement
Q12
Answer:

Neelam gives % of 25 pencils to Meena.

(% x i) — 20 Pencils

Thus, Meena gets 20 pencils.

~ Mumber of pencils left with Neelam = 25 — 20 = 5 pencils
Thus, 5 pencils are left with Neelam.

Q13
Answer :

Draw a 0 to 1 on a number line. Label point 1 as A and mark the starting point as 0.

(i) Divide the number line from O to 1 into 8 equal paris and take out 3 paris from it to reach point P

A

o10

- 1 1
-+ T T T

O
0

¥

—- 1>

A

=10

-
L}

—1=
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Fraction
Exercise 5B

Q2

Answer :

A fraction whose numerator is greater than or equal to its denominator is called an improper fraction.
3 9 8 271 19 26 . '
Hence. 5, 7, g 5, §5 and 35 are improper fractions.

Q3

Answer :
Clearly, %, %, %, !—5} 5 % and % are improper fractions, each with 5 as the denominator.

Q4

Answer:

Clearly, 1—; B % ) % ) % N % N 1—?3 are improper fractions, each with 13 as the numerator.

Q5
Answer:
We have:
ces _ lEx74s 4
M3 = —— = 7
a3 _ =843
Mo =~—=— =%
oa3  (6x10)4+3 g3
(Ill)ﬁﬁ = — = %
) 5  (3x1)+5 38
W35 = 11 BT
9 _ (0x14) 39 449
v) loﬁ - 4 T
) 7 ([2x18)+7 g7
(VI) IQE = = = T
o8 (Bx13)+8  qy9
(w)SE = —_— ==
3  (s1x3+2 55
{viii) 515 = — = 5

Qs <
Answer : 60 ’\\'CJ
(i) On dividing 17 by 5. we get: @ O
Quotient =3
Remainder = 2 K@ Q
28 =343 =32 \(b
(ii) On dividing 62 by 7. we get: % &Q
Quotient =8 . OQ
Remainder = 6 \ @
22 =842 =38 ‘§\ Q)

(i) On dividing 101 by 8, we get: )
Quotient = 12

. Q
Remainder = 5 Q\
L 5 5
2= 1243 =122 &

=il
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(iv) On dividing 95 by 13, we get:
Quotient=7
Remainder = 4
. 95 4 _ =4
Y 7 +3 = TE
(v) On dividing &1 by 11, we get:
Quotient=7
Remainder = 4
. BL 4 _ =4
S T 7 +4 = TH
(vi) On dividing 87 by 16, we get:
Quotient =35
Remainder =7
. BT 7T _eT
YT 5 +4% = 5E
(vii) On dividing 103 by 12, we get:
Quotient =8
Remainder =7
L1 7 _ gl
2B = 8+L =8L
(viii) On dividing 117 by 20, we get:
Quotient =5

Remainder = 17
117 - .17 - 17

Q7

Answer:

An improper fraction is greater than 1. Hence, it is always greater than a proper fraction, which is less
than 1.

(i3 1
OF 1
mi[>7]%
v § [=]1

B8 =71
(vi) & 1
Q8

Answer:

(i) Draw a number line. Mark 0 as the starting point and 1 as the ending point.

Then, divide 0 to 1 in four equal parts, where each part is equal to 1/4. ao '\\F)

Show the consecutive parts as 1/4, 1/2, 3/4 and at 1 show 4/4 =1.

<

T T T T -

0 1/4 2/4 3/4 1=4/4 6 Q

(i) Draw 0 to 1 on a number line. Divide the segment into 8 equal parts, each part corresponds E::

Show the consecutive parts as 1/8, 2/8, 3/8, 4/8, 5/8, 6/8, 7/8 and 8/8. Highlight the required o

—t—t— > Q
0 1/8 2/8 3/8 5/8 T/8 1=8/8 \\O
(i) Draw 0 to 2 on a number line. Divide the segment between 0 and 1 into 5 & \s, uW@ch

-

part is equal to 1/5 o
Show 2/5, 3/5, 4/5 and 8/5 3 parts away from 1 towards 2. (1 < 8/5 < 2) Q%
*

0 25305 45 1 85 2 ,QQ



http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/

Fraction
Exercise 5C
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Q1
Answer :
mz =2x2 _ 2x3 2x-l= 2x5 _ 26
3 Ix2 3=3 Jx4 3x5 3x6
L2 _ 4 _ 68 _ 8 W 12
"3 T 6 — 8 T 12 T 15 T 18
] ] 2 4 6 8 10 12
Hence, the five fractmnsequwalenttoiare T 9 3 i and -
(") 4 _ 4x2 4x3 _ 4x4 _ 4x5 _ 46
5 =2 5x3 Sxd Sxh 5xb
L4 _ 8 _ 12 16 _ ;0 _ :
B T N T 20 © 25 T 30
] ] 4 5 12 16 20 24
Hence, the five fractmnsequwalenttogare T I W = and -
(iii) 5 — Sx2 53 — Sxd — 5x5 — 5:x6
B Bx2 B3 Bxd Bxb Exf
LB _ 10 _ 15 o _ 25 _ 30
& 16 24 T 32 0 40 0 M@
. . 5 10 15 20 25 30
Hence, the five fractions equivalent to € 933 1ol and e
(iV) T Tx2 T3 _ Tx4 _  Txb _  Tx6
W T 10x2 T 10%3 1W0x4 —  10x5 ~ 10x6
Zo_ M4 _ o2 % 3»_ @
0w 30 ~ 40 50 60
" . T 14 21 28 35 42
Hence. the five fractions equivalent o = are ==, 35, 51 5 and -
(V) 3 _ Jx2 Ix3 _ Ixd _ 3x5 _ 3«6
T T=2 T=3 Txd Tx5 TwG
.3 _ 8 _ 8 _ 12 15_ 18
T T 14 T 2 T 28 36 42
" ] 3 6 9 12 18
Hence. the five fractions equivalentto < are o2, 57, &35 and =
(Vi) 6 Gx2 Gx3 _ Gx4 _ 6Gx5 66
11 11x2 11x3 ~ 1iwxd  11x5 11x6 @
>
6 _ 12 _ 1B _28_ Bn_® 0 \<)
1L T 2. 33 ~ 44 — 55 66 \
" ] 6 12 18 24 30 36 @ O
Hence. the five fractions equivalentto - are =, =, 7y & and - @
(Vii) T _ Tx2 T=3 — Txd _ Txh T=b 6
9 9x2 0x3 9x4 9x5 9x6 @
LI _ 14 _on o m % o®@ XN %‘
] 18 27 36 45 B4
] ; 7 14 21 28 35 42 Q @
Hence, the five fractions eguivalent to 34 T %W L and - .\O @
N @
(vii) & —5x2 _ 5x3 _ 5x4 _ 5x5 _  5x6 \/
12 12x2 12x3 12x4 12x5 126 L
*
5 _m _ 15 _ 2 _ x_ % Q
12— 24 36 48 60 T2 Q\
] ] 5 0 15 20 25 :m&
Hence, the five fractions equivalent to 5 € 51 350 T Eo and = -
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02
Answer :

The pairs of equivalent fractions are as follows:

o5 2 0 _ 5xt

() 5 and 3 (E = m)
o 3 15 15 _ 3x5

(i) § and g (E = st)
iy 2 14 14 _ 2xT
é“ga and & (E = 9)(?)
Answer:

- 3 _ E

(et = 2

Clearly, 30=5 x 6
So, we multiply the numerator by 6.

3 _ 3x6 _ 18

5 ~ Bx6 30
Hence, the required fraction is %_
- 3 2
(i) Letz = =
Clearly, 24 =3 x 8
So, we multiply the denominator by 8.

3 _ 3x8_ A

B T BxB 4D

Hence, the required fraction is 4—2';_
Q4

Answer :

. 5 o E

(i) Letﬁ =

Clearly, 54 =9 % 6
So, we multiply the numerator by 6.

.5 _ Bx6 _ 30

O T 9x6 54

Hence, the required fraction is 3—52_
- 5 _ 135

(i) Letﬁ = 5

Clearly, 35=5 x 7

So, we multiply the denominator by 7.
.5 _ 5T _ 3

* 9 9x7 63
Hence, the required fraction is %_

Q5

Answer:

. 6 _ O
(I) LetE = ?

Clearly, 7T =11 x 7
So, we multiply the numerator by 7.

LB 6xT _ 42
B T T E S .
Hence, the required fraction is %_ @
r-® O
(i) Let T 5 o \\
Clearly, 60 =6 x 10 0
So, we multiply the denominator by 10. @

110°

S
B &
Answer: . O &
N

So, we divide the denominator by 6. e
L2 246 4

30 30:6 5 ‘\Q
Hence, the required fraction is 4

5 &Q

L6 6xi0 60 @
il T idxio 110
Hence, the required fraction is 2% \
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Answer:

. 36 _ 9
(l)LetE = 3

Clearly, 9 =36 +- 4
So, we divide the denominator by 4.

.36 _ 36:4 9

T48 T 484 12

Hence, the required fraction is %
- 36 _ O

(ii) L8t4s = 3

Clearly, 4 =48 - 12
So, we divide the numerator by 12.

36 _ 36:12 _ 3
48 T 48112 T 4
Hence, the required fraction is %.
Q8
Answer:
. 56 _ 4
Let o = =

Clearly, 4 =56 = 14
So, we divide the denominator by 14.

.50 _ B6:14 _ 4

70 T 714 -5

Hence, the required fraction is %_
. 56 O

(i) Letﬁ =

Clearly, 10=70 +7
So, we divide the numerator by 7.

.56 _ 56x7 _ 8

T T ToxT T 10

Hence, the required fraction is 1%_
Q9
Answer :

(i) Here, numerator = 9 and denominator = 15
Factors of 9 are 1, 3 and 9.

Factors of 15 are 1, 3, 5 and 15.

Common factors of 9 and 15 are 1 and 3.
H.C.F.of 9and 15 is 3.

I e N
I T T
Hence, the simplest form of -+ is 2.

(i) Here, numerator = 48 and denominator = 60

Factorsof 48 are 1, 2, 3, 4,6, 8, 1216, 24 and 48.
Factors of 60 are 1, 2, 3, 4, 5, 6, 10, 12, 15, 20, 30 and 60.
Common factors of 48 and 60 are 1,2, 3, 4, 6 and 12.

H.C.F. of 48 and 60 is 12.
L4858 _ 4812 4

T %0 T G012 5
Hence, the simplest form of % is %_

Q10
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Answer :

(i) Here, numerator = 8 and denominator = 11
Factors of 8 are 1, 2, 4 and 8.
Factors of 11 are 1 and 11.
Common factor of 8 and 11 is 1.
Thus, HC.F. of 8 and 11 is 1.
Hence, 111 is the simplest form.
(ii) Here, numerator = 9 and denominator = 14
Factors of 9 are 1, 3 and 9.
Factorsof 14 are 1, 2, 7 and 14.
Common factor of 9 and 14 is 1.
Thus, HC.F. of 9and 14 is 1.
Hence, 1—5_'4 is the simplest form.
(iii) Here, numerator = 25 and denominator = 36
Factors of 25 are 1, 5 and 25.
Factorsof 36 are 1,2, 3, 4,6,9. 12, 18 and 36.
Common factor of 25 and 36 is 1.
Thus, HC.F. of 25 and 36 is 1.
Hence, % is the simplest form.

Q11

Answer:

(i) 28 (% _ oz _ %)

(i) 21 (% _ % _ 2_3;)

(iil) 32 (% _ pa %)

(iv) 12 ('3—-3—3—52=%)
ws (% -#2-3)
we (& - #8 - )
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Exercise 5D
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Q1

Answer :

Like fractions:
Fractions having the same denominator are called like fractions.
. 3 5 709 10
Examples_ﬁ, TR TRIE TR
Unlike fractions:
Fractions having different denominators are called unlike fractions.
Examples: 304 8 2 2

5T D

Q2

Answer :

The given fractions are % ,

= B
b=

(=W
gl=

505,10,15.30

2[1236

31,133

11,11

L.CM. of 5,10, 15and 30 = (5 X 2 X 3) = 30

So, we convert the given fractions into equivalent fractions with 30 as the denominator.

(Elut, one of the fractions already has 30 as its denominator. So, there is no need to convert it into an
equivalent fraction.)

Thus, we have:

3 _ 3x6 _ 18, T _ Tx3 _ 21 . 8 _ 8x2 _ 18

5 5x6 30° 10 10x3 30 1 Bx2z 30
. . 18 21 16 1

Hence. the required like fractions are 35, 454 35 and 5=

Q4
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Answer:

Between two fractions with the same denominator, the one with the greater numerator is the greater of
the two.

M=
(i) >
(iii) <
() =
(V) >
(i) =

Q5

Answer:

Between two fractions with the same numerator, the one with the smaller denominator is the greater of
the two.

Q6

Answer:

4 5

5 7

By cross multiplying:
5x5=25and4 x7=28
Clearly, 28 = 25

4 5

S5 = =

Q7

Answer :

3 5

8 6

By cross multiplying:

I3 x6=18and5 x 8=40

Clearly, 18 < 40

.3 5
'8{6

Q8

Answer : @
Z C)O \\O
By cross multiplying: @ O
7Tx7=49and 11 x 6 =66 6
Clearly, 49 < 66 @K Q
< g %\' %_
Q9 O(\ QQ
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A

1’7

By cross multiplying:
S5x11=55and9 x6=254
Clearly, 55 » 54

. 5 9
‘5 7 T
Q10
Answer :
. s
T

By cross multiplying:
2x9=18and4 x 3=12
Clearly, 18 = 12

2 4

“3 73

Q11
Answer :

s 3

13 * 4

By cross multiplying:
6x4=24and13 x 3=39
Clearly, 24 < 39

. 8 3
R
Q12
Answer :
L 3
R

By cross multiplying:
Ix6=18and4 x 5=20
Clearly, 18 < 20

3 5

“IT %

Q13

Answer :

s L

8 '12

By cross multiplying:
5x12=60and 8 x 7 =56
Clearly, 60 > 56

. 5 7
‘5 7 3
Q14
Answer :

LCM. of9and6=(3 X3 Xx2)=18

Now, we convert % and % into equivalent fractions having 18 as the denominator.
.4 _ 4x2 _ 8 5 _ Ex3 _ 18
e T ox2 _1sand 6 ~  6x3 18

15

CIe:lrI'y,l%5 << e @
3 <% 60 ,\\O
Q15 CJ

Answer: K@ Q
LCM of5and10=(5 % 2)=10
x0

Now, we convert % into an equivalent fraction having 10 as the denominator as the other fracy
already 10 as its denominator.

LA o ma 8 Q
T T B2 T O &
X (o)
Clearly,% = 1——:] 0\\\ @
T

i > 4 N \/
Q16 .\Q
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Answer:

LCM. of8and10=(2 x5 x2xX2)=40
Now, we convert % and % into equivalent fractions having 40 as the denominator.

7 _ ixs _ 35 9 _ 9x4 _ 36
T& Bxh 40 W 10x4 40
35 36
Cle?arly, Eg. < o
‘S <
Q17
Answer :

LCM of12and15=(2 x2 x 3 x §)=60

MNow, we convert % and % into equivalent fractions having 60 as the denominator.

.1 ux5 _ 55 13 13x4 _ 52
“T = T — w and f i5xd 60

Clearly,?—.g > 2

11 13 w0
LT3 = =

Q18
Answer :

2.4,6,8
1.2,3.4
1,1,3,2
1,131
L1l

2
2]
2|
3]

The given fractions are %, %, % and %.
LCM of2 4 6and8=(2x2x2x3)=24
We convert each of the given fractions into an equivalent fraction with denominator 24.

Now, we have:

1 _ 1x12 _ 12, 3 3x6 _ 18
2 2x12 T 24 4 T 4x6 24

5 _ 54 0,7 Tx3, 2

6 Gxd 24* B — Bx3 ~ M

12 18 20 21

Clearly,i <E {ﬁ qﬁ

L1 3 5 7

“F7 S% CF 7%

Hence, the given fractions can be arranged in the ascending order as follows:
i 3 5 7

27 47 67 8
Q19

Answer

The given fractions are %, ) % and %

3[3.69.18
31236
212,12 O . Q
LLL1 b ’\,\
LCM of3,6,9and18=(3 x2 % 3)=18 @ O

So, we convert each of the fractions whose denominator is not equal to 18 into an equivalent fraction % 2 @

with denominator 18.

Now, we have: @
2 _ 2x6 _ 12,5 _ 5Sx3 _ 15, 7 _ Tx2 _ 14 %\' %_
— =0 S 5 = 75 =

3 3%6 B 6 6x3 18 * 92 18

11 12 14 15
c"ii‘”’”i‘g <§ {51—8 < Q @
" — = _ = *
T < 3 < 9 = [ \O @
§’\\ Q
Hence, the given fractions can be arranged in the ascending order as follows: \ V
11 2 i 5

B '3 0%

Q20 ’\Q
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Answer:

. ! 2 7 1
The given fractions are £, 37, ¢

LCM.of5,10,15and 30=(2 x 5 x 3)=30

17
and =0

5 [s.10.15.30
2]1236
3 (1,133
IRERER
So. we convert each of the fractions whose denominator is not equal to 30 into an equivalent fraction
with denominator 30.

Now, we have:

2 _ 2x6 _ 12. T Tx3 _ 2. 1 _ ix2 _ 22

5 ~  &x6 30 10 ~ 10x3 ~ 307 15 ~  15x2 30
12 17 21 22

Clezarly,ﬁ <3_70 x{ﬁ ==

SR R TR

Hence, the given fractions can be arranged in the ascending order as follows:
2 om o 1ou
5 30 W0? 15

Q21
Answer :

) i 3 7 1 23
The given fractions are §, ¢, 35 and 4.

LCM. of4 8 16and32=(2 x2x2x2x2)=32

i 4.8,16,32
i 24816
211.24.8
21124
2[11,12
L.LLL11
So, we convert each of the fractions whose denominator is not equal to 32 into an equivalent fraction
with denominator 32.

Now, we have:

3 _ 3x8 _ 24,7 _ Tx4 _ 28, 11 _ 1ix2 _ 22

4 7 4x8 T 32 8 T 8x4 32 16 16x2 — 32
22 23 24 28

Clefrly, 3—%3<3—§ é? <%

"% S®: ST 5%

Hence, the given fractions can be arranged in the ascending order as follows:

ia 2\ 3 7
16! 33! 4! §
Q22
Answer :
i ! 3 5 11 17
The given fractions are 5, 2, 57 and .

LCM. of4,8 12and24=(2x2x2x3)=24

2(4.8,12,24
i 2,4.6,12
Sliase . QQ)
2[12,1.2 bo 3\\
11,11 O
So, we convert each of the fractions whose denominator is not equal to 24 into an equivalent fraction @ @
with denominator 24. 6 &
Thus, we have; & Q
3 _ 3x6 _ 18. 5 _ 5«3 _ 15, LI _ 1lx2 _ 23 @
1 4x6 24° B 823 2147 12 122 24 \ %.
Clearly, 2 >3 > > 2 %

11 3 17 5 *
R O @
12 1 24 B
N, @
Hence, the given fractions can be arranged in the descending order as follows: \ V
i3 17 5
i2? 47 74 B e

Q23 ’\Q
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Answer:

105 1
97 127 18
LCM 0of9 12, 18and36=(3 x 3 x 2 x2)=36

The given fractions are and % .

319.12,18,36
i 3.4.6,12
i 1.4.2.4
211212
IRIREE
We convert each of the fractions whose denominator is not equal to 36 into an equivalent fraction with
denominator 36.
Thus, we have:

T _ x4 _ 2®. 5 _ 5x3 _ 15, 11 _ 1ix2 _ 22

9 T oxd T~ 367 12 T 12x3 367 18 ~  1Bx2 36
28 22 17 15

Clearly,ﬁ % T® W

LT 11 17 5

3T 7E W 1

Hence, the given fractions can be arranged in the descending order as follows:
S N V-
(RETRETRET

Q24
Answer :

. . 2 3 T 8
The given fractions are £, £, 55 and —.

LCM of3,510and15=(2 x 3 x 5) =30

i 3.5,10,15
i 1,5,10,5
21121
CLLL
So, we convert each of the fractions into an equivalent fraction with denominator 30.
Thus, we have:

2 2x10 20. 3 _ 3x6 _ 18,

3 7 3x10 3 5~ 5«6 T 307

7 7x3 _ 2, 8 _ 82 _ 16

0 — 1Wx3 — 30° 15 1BxZ 30
21 20 18 16

Cle?arly, 3—2 = ? = BE =3

% C3 T T

Hence, the given fractions can be arranged in the descending order as follows:
T2 i 8
10 '3 '5'15

Q25
Answer :

. . 5 9 17 31
The given fractions are T4 10 T and ol

LCM of 7,14, 21and 42 = (2 x 3 x 7) =42

7|70421.42
2[1.236
3

1133 0 '\C)
LLLI b 6\

We convert each one of the fractions whose denominator is not equal to 42 into an equivalent fraction @ @
with denominator 42. 6 &
Thus, we have: & Q
5 _ 5x6 _ 30. 9 _ 9x3 _ 27. 17 _ 17x2 _ 34 (b
T T Txf T 427 14 T 14x3 42 21~ 21x2 42 %\' %_

34 31 30 27
Clearly, - = ol > s 2

17 31 5 2 2 Q Q
“w PE TE P Q) K

*
Hence, the given fractions can be arranged in the descending order as follows: \
1T 31 5 9 * \

ARTT ! \ VQ
Q26 @
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) ] 1 1 1 1 1 1
The given fractions are 5,57, 75 3 1 77 and = -
As the fractions have the same numerator, we can follow the rule for the comparison of such fractions.
This rule states that when two fractions have the same numerator, the fraction having the smaller
denominator is the greater one.
1 1 1 1 1 1
Clearly,? 3 C"E T m o
Hence, the given fractions can be arranged in the descending order as follows:

i i L L L L
7' 97 T2 W W? 0

Q27

Answer :
i : 3 3 3 3 3 3
The given fractions are Ty T 3 1 and =
As the fractions have the same numerator, so we can follow the rule for the comparison of such
fractions.

This rule states that when two fractions have the same numerator, the fraction having the smaller
denominator is the greater one.

3 3 3 3 3 3
Clearly, 3 >¢ > >3 >G> 7w
Hence, the given fractions can be arranged in the descending order as follows:

i 3 3 32 3 3
4?5 T* 11 1B A7

Q28

Answer:

Lalita read 30 pages of a book having 100 pages.
Sarita read % of the same book.

éofmopages:% x 100 = % = 40 pages

Hence, Sarita read more pages than Lalita as 40 is greater than 30.

Q29

Answer:

To know who exercised for a longer time, we have to compare % hour with % hour
On cross multiplying:

4x2=8and3 x3=9

Clearly, 8 <9

% hour <« % hour

Hence, Rohit exercised for a longer time.

Q30
Answer :
i . _20 _ 2035 _ 4
Fraction of students who passed in VI A = T = Bmes — 3
. . _24 _ M6 _ 4
Fraction of students who passed in VI B = ™ - Foes %
In both the sections, the fraction of students who passed is the same, so both the sections have the

same result.
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Fraction Exercise 5E

Q1l

Answer:

The given fractions are like fractions.
We know:

] - _ Sum of the numerators
Sum of like fractions = T o T emorminaios

Thus, we have:
__,’_l_{f’*l) _ﬁ/!_:g

B B B ?ﬂ B
Q2
Answer:

The given fractions are like fractions.
We know:

- - _ Sum of the numeratos
Sum of like fractions = G T omominator

Thus, we have:

4 g (a8) ot 4y
sty = w5 =% 371
Q3

Answer .

The given fractions are like fractions.
We know:

; ; _ Sum of the numerators
Sum of like fractions = Con 1 = -
Thus, we have:

3 4 _ B 14 (B414) ap

5 5 5

Read More:
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Q4

Answer:

LCM of9and6=(2 x3 x3)=18

9.6
32
1,
L1

NCIW, we have:

o]0 |
(£

2 2x2 _ 4.5 Ex3 _ 18
5  Gx2z  18' 6  6x3 18
2 5 4 15 _ (4+18) 19 o1
stTs s tws="® =% ~1n
Q5
Answer :
LCM of12and16=(2 X 2 X 2 X 2 X 3)=48
2]12.16
268
2[3.4
23,2
EIEX
1.1
Now, we have:
7 Tx4 _ W/, 9 _ 8x3 _ A
12 1z=4  48° 1  1x3 18
7 9 28 27 (28 +27) 55 7
st =8t 8=" = = 8=-1%
Q6
Answer :
LCM of15and20=(3 x5 x 2 X 2)=60
5]15.20
EX
21
212
11
.4 17 (16 4 51)
-5 T ™ T e
{[60 = 15 — 4,4 x 4 — 16] and [60 = 20 — 32, 17 x 3 — 51]}
- 5 _ 37
] 60
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5
G
=53 +3% L.C.M.uf4and6=(2x2x3)=12

(664 140)

= —

{[24 = 4 = 6,6 x 11 — 66/ and [24 + 6 = 4,4 x 35 = 140]}
Mma _E_Sl

2, 12 T T2

=S+ 3 L.C.M.ufSaud12=(2x2x2x3)=24

{[24 = 8 = 3,3 x 25 = 75| and [24 + 12 = 2,2 x 17 = 34]}
— M _ 413
24 24
Q9

Answer:

We have:

510,15
2]23
3113
11

T ]

-5+t s L.C.M.uflt}a.nd15=(2x3x5)=30
(81 4 108)
- 30
{30 +10 = 3,3 x 27 = 81] and [30 + 15 = 2, 2 x 53 = 106]}
187

— — 6L
T _630

Q10 60 c;\'\o
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2 5
32 412 +2

-3+ 5+ L.C.M.of3and6=(2><3)=6

(22 + 11 4 12)
= —
{6+3=22x11=22,[6+6=1,1x11=11]and[6+1=26,6 x 2 = 12]}
ra 15

-3 48, B L.C.M.ofl5and20=(2x2x3x5)=

(180 + 76 + 69)
= —
{[60 = 1 = 60, 60 x 3 = 180], [60 +~ 15 = 4,4 x 19 = 76] and [60 + 20 =3, 3 x 23

s % _ 55

5, 12 12

1 1 1

33 +4Z +63
=1—£+%+% L.C.M.of3,4and6=(2x2x3)=12
(404514 74)

12
{12 +3=44x10=40,,[12 +4=3,3x17 =51]and [12 + 6 =2,2 x 37 =

P 55 3
B \) '\O
Q13 @b C}'
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We have:
33,6918
2[1236
31133
1111

(21 [X]

1 2 5
+3L +42 422
2 19 38 41
=3+t 5 +5 5 L.C.M.of3,63nd9=(2x3x3)

= 18
(12 4 57 4 76 4 41)
18

{183 —6,6x2—12,[18 =6 —3,3 x 19 — 57],

[18+ 9 —2,2 x 38 — 76] and [18 = 18 — 1, 1 x 41— 41]}
a6 31
M, 3

Q14

Answer:

We have:

3]3,4.6,12

2[1.424

21212

BEIRRE

22 +13 +22 +3+&

7 5 17 43
=z +1+5 + 54 L.C.M. of 3,4, 6and 12 =

(2x2x3)=12

(28 + 15 + 34 + 43)
12

{12+3=44x7=28,[12+4=33x5 =15,
[12 26 =2,2 x 17 = 24 and [12 = 12 = 1,1 x 43 = 43]}
m]ﬂ

= 10
M,

+1 3 Q
_ 2434y s L.C.M. of 4, 8, and 16 — GOC’}\

_ (2 121;625 { 55) K@ Q
x0

{16 =1 —16,16 x 2 — 3], [16 = 4 — 4,4 x 3 — 19, %

[16 8 =2,2 x 13 = 26] and [16 = 16 = 1,1 x 55= 55|} Q Q
:E:T% &

16

S
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Answer :

Total cost of both articles = Cost of pencil + Cost of eraser
Thus, we have:

2 7 17 27 o (34427)
Rs35 + Rs25 = 5 + 5 =
(L.C.M. of 5 and 10 = (5 x 2) = 10) = % = Rsﬁl—ln

Hence, the total cost of both the articles is Rs 6%_
Q17
Answer :

Total cloth purchased by Sohini = Cloth for kurta + Cloth for pyjamas
Thus, we have:

1 2 9
(45 + 2;)m= (E +

((27;1&]) m

{[6+2=3,3x9=27]and[6+3=2,2x8=1ﬁ]}=(i;)m= 7im

.". Total length of cloth purchased = T% m

e

)m (L.C.M. of 2 and 3 — (st) =ﬁ)=

Q18

Answer :

Distance from Kishan's house to school = Distance covered by him by rickshaw + Distance covered by
him on foot
Thus, we have:

(4% + 15)1@
N (% N %)km _ ((waﬂ)) 4

L.C.M.of 2 and 4 — (2 xz) » 4): (%) km — 64km

e

24
1.2
1.1
Hence, the distance from Kishan's house to school is 6% km

2
2

Q19

Answer :

Weight of the cylinder filled with gas = Weight of the empty cylinder + Weight of the gas inside the
cylinder
Thus, we have:

4 2
(162 + 142) ke
- (2 + ) ke (L.C.M.of5aud3:(3x5):15):
(252 + 220)
( 5 )kg =(%)kg=311—75kg

>
Hence, the weight of the cylinder filled with gas is 31 1—75 kg to \\F)
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Q1

Answer :

Difference of like fractions = Difference of numerator < Common denominator

s 1 By Ay

8 . 8 - Z - 2
Q2
Answer:

Difference of like fractions = Difference of numerator - Common denominator

i _ s _ 08 2L 1
12 12 12 - ,}2’6 -
Q3

Answer:

Difference of like fractions = Difference of numerator - Common denominator

Q4 43 _ 94 _ 31 18
T T T T
ﬁnSWEF: _{31 18}
o i
- B
5 _ 4 !
i} L]
36,9
2\2,3
3\1,3
| 1,1

LCM of6and9=(3 x 2 x 3)=18
Mow, we have:

5 _ 5x3 _ 15, 4 _ 4x2 _ 8

6 - 6x3 - 18 9 = Ox2 ~ 18

5 _ a4 _ 15 _ 8 _ (B8 7

i ] 9 ~ 18 18 18 T
Q5

Answer :

1 _ 3

2 B

LCM ofZand8=(2 x2x2)=8
Now, we have:

1 1x4 4

2 T 2x4 T B

13 _ 4 3 _ 3
Tt 2 g B B 8 - B
Qb

Answer :

7

sz <
W O O

2l PR
2‘ 2,3 Q%\(bo%-
2t RN
— O

Iut W ¢?

LCM. of8and 12 = (2 x 2x 2x3)=24 \/

\
Now, we have:
5 _ 5x3 _ 15, T _ Ix2 _ 14 ’Q
B T Bx3 T 24 12 T 12x2 24 \
.5 _ o7 _ 15 _ o1a _ (s-14) 4 Q
Q.%_S 12 M 24 T
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5|1,5

1,1

L.C.M. 0f9311d15=(3x3x5) = 45

23 (125 69)
5 =

{45 = 9 =

=|R

— 5 _q1u
45 D

5,5 x 25 — 125/ and [45 = 15 = 3, 3 x 23 — 60]}

=

Q8

Answer :

2]4,6

2,3

3

2|
3|

1,
1,1

L.C.M. 0f8&11d12:(2x2x2><3) = 24

2 _» _ BT x5
T B 12 24 24 24
{24 + 8 = 3,3 x 20 = 87 and [24 + 12 = 2, 2 x 20 = 58]}
Q9
Answer :
3
2% — 1%
2 22
T R T3
5|10,15
212, 3
31,3

L.C.M. 0f103nd15=(2x3x5) = 30 @
QR
_ (wow) o)
30 \

{30 = 10 = 3,3 x 23 — 69 and [30 = 15 =

o 2,2 x 22 — 44]} %

M
5
®

N
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Answer:

=]
wilba
I
(]
weles

Il
w|§
-
o

- 7 L.C.M.of33nd4=(2x2x3)=12

(80 — 45)
12
{l12+3=4,4x20 =280 and [12 + 4 = 3,3 x 15 = 45]}
_ »
- 12

_ a1l
_212

Q11

Answer :

2
7—53

I _
1 3
LCM ofland 3 = 3
(21— 17)
3
{2+1=33x7=21and[3 +3=1,1x 17 = 17}

4 1
=3 =13

Q12

Answer :

3
10 — 6%
_ 10 51

-1 B
LCM. of1and 8 = 8
(80 — 51)
)

{B+1=2828x10 =280 and[8 =8 =1,1% 51 = 51]}

_
- 8
— 95
— 33
Q13
Answer :
We have:
5 4 2
535 T3
LCM of3,6and 0 =(2 x 3 x 3) = 18
(15 -8+ 12)

18

{18 +6=233x5=15,[18+9=22x4==8 and[18 +3 =6,6x 2 =12}
(27— 8)
- 18
— 19
18

_ 1
_118

ﬂ&&g

ﬂL%B <> ,(fb
ﬂLz1 e> Xb
S QS L
MJJ

9
Q14 \@§' <2


http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/

Remove Watermark H Wondershare

H  PDFelement
Answer :

We have:

L.C.M. of 4, 8 and 12 = (2x2x2x3) = 24

(15418 -14)
o 24

{24 +8=3,3x5=15,[24+4=6,6x3 =18 and [24 + 12 =2,2 x 7 =
(33— 14)

Q15
Answer:

We have:

2 11
1+1

3]1,159

wlen

3|1,5,3
5[1,5,1

|1,1,1

L.C.M. of 15 and 9 = (3x3x5) =45

(90 433 -25)

= —a

{[45 =1 =45,45 x 2 =90],[45 = 15 = 3,3 x 11 = 33]and [45 + 9 =5,5 x 5 =

(90 + 8) 98 8

= "5 — & = 2%
Q16
Answer :
We have:

3 5 1
‘51_4E +3€

_ 23 _ 53 19

=T = t%

L.C.M. of 4, 12 and 6 = (2x2><3) =12

2|4, 12, 6

22,6 ,3
3| 1,23 6 Q
2| 1,21 \(&

1,1, 1 %
_| (69 — 53 1 38) OQ &Q

: >

{12 +4=3,3x23 =69],[12 + 12 =1,1 x 53 = 53] and [1 ’Q&\\Q 2@}]:
w753 oy g 4l V

= iz -7 Tz T %z

Q17 &‘Q\Q
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Answer:

We have:
T _ g1
2+5E 315
2 8T 50
=1twm =

51, 10, 15

3(1,1,3

1,1,1

L.C.M. of 10 and 15 = (2 x5 % 3) = 30

(B0 4171 —118)
T

{30 = 1 =30,30 x 2 = 60],[30 = 10 =3,3 x 57 — 171] and [30 + 15 =2, 2 x 50

(231-118) w3 _ 92
30 - 30 ~ Y30
Q18
Answer :
We have:
1 i
8- 3L -2l
_ 8 _ 7T _ 9
-1 Fl 1
211,24
21,1,2
1, 1,1

L.C.M. of 1, 2 and 4 = (2><2) =4

_ (32-14-19)
= —
4+1=44x8=232,[4=2=22x7=14and[4+4=1,1x9 = 9]}

= ! = 1

Q19

Answer :

(32— 23) 9 1
=2 -9l

We have:
b 3 T
8% — 3% +2orL
53 a7 31
+ 5

-6 B

26,8, 12

3,4 ,6

2]

‘1,1,1 @
L.C.M.ofﬁ,&andm:(2x2x2x3)=24 @ Q

(212 — 81 4 62)
ey Q
{[24 + 6 =4,4 x 53 = 212],[24 = 8 =3,3 x 27 = 81] and [24 + 12 =2,6 =Q

O
N

(274 — 81) _ 1

— 8L
21 5 — 0%

Q20
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We have:
1 1 1
61 — 51 31

[
=|
[
a
+
w

L.C.M. of 6, 5 and 3 = (2x5x 3) =30

(185 — 156 + 100)
30

{30 = 6 =5,5 x 37 — 185],[30 = 5 — 6,6 x 26 — 156], and [30 = 3 — 10, 10 x 10
(285 —150)  ged® 43
N m - 'Sollll N ﬁ
Q21
Answer :
We have:
1 2 7
3+1€ + T
3 6 3 7
= 1tst3i &
5|5,3,15
3(1,3, 3
|1,1,1

L.C.M. of 1,5, 3 and 15 = (5 % 3) =15

_ [#5+18410-7)
- 15

{15 + 1 =15,15 x 3 = 45], [15 + 5 =3,3 x 6 = 18],
[15 =3 =55%x2=10land [15 + 15 = 1,1 x 7 = 7]}
B (737}_,%"M 2 _y
- 15 - x5

=

ey

Q22

Answer :

Let x be added to 9 2 to get 19.

9% +x=19
Thus, we have :
x =19 - 92

1_19—% L.C.M. of 1 and 3 is 3.

_ (57— 29)

{3+1=33x19=57and[3+3=1,1x20 =20}

_ 3 _ g1
_3_93

Q23

; <

mm Wondershare

H  PDFelement
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Let x be added to 61—75 to get 831_
. 7 -
. GE + x = 85

Therefore, we have :

x =8t - 6f
41 a7
-4 _ = L.C.M. of 5and 15 = (5 x 3) = 15
(123 97)

15
{15 + 5 =3,3 x 41 = 123 and [15 = 15 = 1,1 x 97 = 97]}
26

_® _qu
_15_115

Q24

Answer :

L.C.M. of 3,6,0 = (2 x 3 x 3) = 18

_ [105 4 74] — [64 + 60]
- 18

{18 - 6 =3,3 x 35

105] and [18 + 0 = 2, 2 x 37 — 74]}

{18 0 =2,2 x 32 — 64 and [18 = 3 = 6,6 x 10 = 60]}

_ ame] - [124] _ B _ g1
- 18 — 18 ~ Y18

Q25

Answer :

Letus compare% and 2.

7
IXT=21and4 x5=20
Clearly, 21 = 20

] 5

‘177

Required difference:

=3 -2 LCM of4and 7 = (2 x 2 x 7) = 28
23

= nn

{28 +4=17,7x3=21]and [28 + 7 = 4,4 x 5 = 20}
S

28

3 - 5 1
Hence, § is greater than = by =

Q26

- O
Answer : bo \\
Amount of milk left with Mrs. Soni = Total amount of milk bought by her — Amount of milk consumed O

s Amount of milk left with Mrs. Soni

= 71 - 53 &6 Q
- _= L.C.M. of2and 4 = (2 x 2) = 4 \(b

{4+2=22x15=230and[4 + 4 = 1,1 x 23 = 23]} ’OQ &Q

T _ 131
—4—14].1tres

. Milk left with Mrs. Soni=13 litres @ \/
Q27 \Q
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Answer :

Actual duration of the film = Total duration of the show — Time spent on advertisemenis
— (a3l _ 13
= (33 1 4) hours
=(‘" —{)hom L.C.M. of3and4 — (2 x 2 x 3) — 12

3
_ (401221) hours

{12 3 =4,4x 10 =40]and [12 + 4 = 3,3 x T = 21]}
19 7
= (E) hours = 1ﬁ hours

Thus, the actual duration of the film was 1 1—72 hours.

Q28

Answer:

Money left with the rickshaw puller = Money earned by him in a day — Money spent by him on food

~ Rs (1374 — 563) L.C.M. of 2 and 4 — (2 x 2) — 4
- Bs ()

{[4+2=2,2x275 =550and [4 + 4 = 1,1 x 227 = 227]}
550 — 227 323 3

— Rs (T) - RS(T) — Rs 803

Hence, Rs 80% is left with the rickshaw puller.

Q29

Answer :

The length of the other piece = (Length of the wire — Length of one piece)
— 3 _5
= (24 s) m

(2 g)m L.C.M of4dand 8 —(2 x 2 x 2) = 8

I
Fanme
UOES -
—

=

{8+4=22x11=20and[8 +8=1,1x5=5]}

=(%)m=2%m

Hence, the other piece is 2-; m long.
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Exercise 5G

Answer:

Q2
Answer :

B4
©) 1757

Q3

Answer :

() £

Factors of 24 are 1, 2, 3, 4, 6, 8, 12, 24,

Factors of 36 are 1, 2, 3, 4, 6, 0, 12, 18, 36.
Common factors of 24 and 36 are 1, 2, 3, 4, 6, 12.
H.C.F. =12

Dividing both the numerator and the denominator by 12 :
24
36

(- 3)
1 20
We have :
20=4x5
S0, we have to multiply the numerator by 5.

LX=3x5=15

Q5

Answer :

(a)4

Explanation:

€
Now, 3 = 45 +15

S0, we have to divide the denominator by 15.
=060 :156 =4

Qo6

Answer: @

(Fractions having the same denominator are called like fractions.) 6

2 N

Answer : %

(d) none of these Q &
O 2

In a proper fraction, the numerator is less than the denominator. 0\\\ @

. S
Answer: . \Q

(a3

In a proper fraction, the numerator is less than the denominator. &
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Answer :
3 3
b3 >z

Between the two fractions with the same numerator, the one with the smaller denominator is the
greater.

Q10

Answer :
GF:
25,36, 10

51/5,3,3,5

3‘ 1,331

‘1,1,1,1

LCM of5 3, 6and10=(2 x 3 x 5)=30

Thus, we have:
3 3x0

5 = &Hx@
2 _ 2Ix10

3 3xI0
5 _ 5x5

6 Gx5
7T _ ix3 _ 2
I ~ 1Wx3 ~ 30

. 18 3
. The smallest fraction = —— = ¥

Q11

Answer :

8% wlm gls

(b)2

Among the given fractions with the same numerator, the one with the smallest denominator is the
greatest.

Q12

Answer :

(@ &

Among like fractions, the fraction with the smallest numerator is the smallest.

Q13

Answer:

Explanation:
2 | 4, 6,12, 3

2

2, 3,63
3‘1,3,3,3

‘1,1,1,1 60 c,;\\Q

LCM. of4 6. 12and3=(2 X2 x 3)=12 @

Thus, we have: 6
3 _ 3x3 _ K
4 4x3

5x2 _ \'@

6w 2
2x4

T 3x4
. NS
*
Cllzeaﬂ}’, % is the smallest fraction. 0\\\ ®®

N
Q14 \/

Answer :

~ "
Ble gz &Ble

b
o I al;
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(c)42

On dividing 34 by 7:
Quotient = 4
Remainder = 6

34 6 46
T =4+7 =43

Q16

Answer :

(b)

L 2]

Explanation:

Addition of like fractions = Sum of the numerators / Common denominator
3
541
=5 4 1 _ 1) _ i - 3

3 B 3 o A, 4
Q17

Answer:

1
(b) 3
Explanation:

Q18

Answer :

()

Q19

Answer :

@1+

Explanation:
3 | 3,6,0

2

1,2 ,3

3‘ 1,1,3

‘1,1,1

5 2 4
224 (L.C.M.ufS,ﬁandQ:(?x!}xB}—18)

_ O WO
i O K

18
{18+6=3,3x5=15,[18+3=6,6x2=12and[18 +0 =2,2 x 4 = §

ol (O
= &9 _ s, KQQ&

5 s \(b %.
Q20  Answer: %
()34 OQ QQ

*

Explanation: ‘%\\ ®®
Let us compare 33 L and 2 or £ and £ \/

0 3 0 -
1Dx10—1008nd3x33 a9

Clearly, 100 > 99 . Q
.l 3 1.3
s rpooad; > \

10
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